Addition

Q1. Form the numbers and match the sportsman with his ball.
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Q2. Fill in the blanks using properties of addition:
a. 23+ __ =23
b. 75+ 14=14+ __
c. 46 +0=__+46

Q3. Add the following using abacus:

T (0] T o T (0]
64 + 23 =

Q4. Solve the sums given in the notepads:

a. [ b. [
T O T O
39 2 5
+ 4 5 + 6 7
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Q5. Put the correct symbol <, > or =:

Q6. The girl with the maximum points gets the doll. Add the points and tick the girl
who will get the doll.
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Q7. Form the numbers and add:
2 Tens + 3 Ones =
5 Tens + 6 Ones = +

Answer:

Q8. Add the following:
23 +46 + 15
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Q9. Mrs. Anita bought 16 bananas, 24 apples and 18 guavas. How many fruits did

she buy in all?

Number of bananas

Number of apples

Number of guavas +

Total fruits

Q10. A shopkeeper sold 46 plastic chairs and 39 wooden chairs. How many chairs did
he sell?
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Number of plastic chairs

Number of wooden chairs +
Total chairs sold chairs

Q11. Round off the numbers to the nearest 10 and tick the correct answer:
Number Rounded off to the nearest 10
a. 16 () 10 () 20
b.74 () 70 () 80

Q12.Find the estimated sum and actual sum of the following and match the correct

answer:
Estimated
Sum:
45 + 27
<72 >
Actual Sum:
<73 >

Q13.Round off the numbers to the nearest 100 and fill in the blanks:
a. 234 + 623 —> + =
b. 625 + 267 > + =
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Q14.If we add:
23 + 47
Is the estimated sum and actual sum equal?

Answer: Yes/ No

Q15. Compare the estimated and actual sums and put the correct symbol <, > or = in
the boxes.

Add Estimated sum Actual Sum
a. 13 +28 )

b. 29 + 25
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2. a0 b. 75 c. 0
3 87

4 a. 84 b. 92

5. a. = b. = c. <
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7. 2Tens+ 3 Ones = 23
5 Tens + 6 Ones =+ 56
7 Tens + 9 Ones = 79

Answer: 79

oo
i

A~ ooy W @)

o= DN

Copyright © 2017 Macmillan Publishers India Private Limited. All rights reserved.



9
Number of bananas 1 6
Number of apples 2 4
Number of guavas +/1 8
Total 5 | 8 |fruits
Number of plastic chairs 46
Number of wooden chairs + 1319
Total chairs sold 8 | 5 |chairs
11. a. 20 b. 70

12. Estimated sum: 80, Actual sum: 72

Estimated I .I
Sum:
_ 80 s
45 + 27
Actual Sum:
72
13. a. 200 + 600 = 800 b. 600 + 300 = 900
14. Yes
15. a. 40 <41 b. 60 > 54
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